EECE 290, Problem solving

Session 11




3 filters are cascaded. At one
particular frequency the gains
are 46dB, -12dB and OdB. What is
the signal magnitude gain on a
linear scale?
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2"d and higher order active filters
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~ Broadband band-pass with cascading LPF and HPF
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Broadband band-reject with cascading LPF and HPF
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Cascading identical filters
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HPF: H(s)=250, wen = 1 / V2!




~ Butterworth filters
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' band-reject:
~ Narrow-band filters anda-reje
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This is the Butterworth
magnitude response of

1 st order
2"d order
3'd order
. 4t order
6th order
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Design 2" order LP Butterworth filter

Table 15.2.2 Normalized Butterworth Polynomials of Order n
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Scaling w,->20 krad/s,
R->1kQ. Find C’,

A. 7.07 uF
0.0707 uF
1.41 uF

. 0.141 pF
0.354 uF
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T - 29 order Butterworth: B = ﬁ ¢ = km kf

Scaling w,->20 krad/s,
R->1kQ. Find C’,

A. 7.07 uF
0.707 uF
1.41 uF

. 0.141 pF
0.0354 uF
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Now: short quiz 2B
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